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FACULTY OF COMMERCE
B.Com. (First Year) (Second Semester) EXAMINATION
OCTOBER/NOVEMBER, 2017
FUNDAMENTALS OF STATISTICS AND MATHEMATICS—II
(MCQ & Theory)

(Friday, 13-10-2017) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. :— () Solve Question No. 1 on OMR sheet.

(iz1) Question No. 1 and Question No. 2 are compulsory.
(i1i) All questions carry equal marks.
(iv) Simple calculator is allowed.
@) Y A% 1 OMR sheet atd el
(i) 91 A 1 S 2§ HAfEE aRd.
(i)  |E YA FHE IO SR

Gv) HEY TURIS S EE 3R

MCQ
1. Multiple Choice Questions : 10
TEIARE T
(@) Current year price and current year quantity is shown by :
(@ Poqo &) P19q
©)  poa; d)  p1gy
e et forma oTfor =re] aefen WM e wEem qwifedr Ad ?
(@ Poqo &) P19q
() poa1 d  p19p
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(@)  Which index satisfies factor reversal test ?
(@) Laspeyre’s Index b) Paasche’s Index
(c) Fisher’s Index (d) None of these

~

o ¢ a9y N
IOl TGRSR  hlsh IShIFIdl IMEUN Hhal hidl ?

(@ @ISR feeies (b) e fdwe
¢  Treren fademes (d) ~ aTent &

(ziz) A matrix having only one row is called :
(@) Zero matrix b) Column matrix
(c) Diagonal matrix (d) Row matrix

=GR e Uehd Ukl 9THd o WU

(@ I EROT (b) =Y FRo
(¢) U FRof (d) ~ Hai ERof
2 4
(iv) If D = , then find the value of ‘D’ :
37
(@) 2 b) 12
() 8 d 6
2 .
D = FHIE Dt fhad e
3.7
(@) 2 b) 12
() 8 d 6
(v) What will be the simple interest on Rs. 1,500 at 7% per year for
3 years ?
(@) 315 (b) 314
(c) 313 d) 312
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1,500 T TLEE X THST 7% AN WH Wes AN 3 () Iwi=
forat 2

(@ 315 b) 314
(c) 313 d) 312
In how many ways can the letters of the word ‘TUESDAY’ be

arranged ?

(@) 5010 (b) 5020
(c) 5030 (d) 5040
‘TUESDAY’ =1 3=l 31eR fohdl f9=1 YR shHaR T=al Idta ?
(@) 5010 b) 5020
(c) 5030 (d) 5040

An agent sold Rs. 15,000 worth of some articles on a 5% commission

basis. Find his amount of commission :
(@) 740 (b) 750
(c) 760 (d) 770

Teh1 TSIeM 15,000 T HeaTea Fg! oa&] 5% FHHO [Tehedrd &= wHter
FhH <hlel

(@) 740 (b) 750
(c) 760 (d) 770
Find the value of 8! :

(@) 40320 (b) 40330
(c) 40340 (d) 40350
8! o U T :

(@) 40320 (b) 40330
(c) 40340 (d) 40350

P.T.O.
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A bag contains 2 blue, 4 black, 7 white and 5 red balls. What is the
probability of getting one blue or one black ball ?

X

(@) ®)

3
1 VSO
3 @D g
TH e 2 93, 4 HTes, 7 Wi oM 5 A W AR AMUh! Tk e
e ww we =g fhefauarst e feadt 2

(c)

2 3
(a) 3 (b) 1
(c) ! (d) 2
3 9
(x) >IV = 6600 and XV = 46, Cost of Living Index number is :
(@) 143.48 (b) 14249
(c) 141.50 (d)  140.40
XIV = 6600 3701 XV = 46 378, W feie =@ fewms :
(@) 143.48 (b) 14249
(c) 141.50 (d) 140.40
Theory
Construct the Fisher’s Ideal Index Number of price from the following
information : 10
Commodity 2015 2016
Price Quantity Price Quantity
A 06 50 10 56
B 02 100 02 120
C 04 60 06 60
D 10 30 12 24
E 08 40 12 36
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@il Aifediaed Theen sTest dvms &

q&] 2015 2016

ferua Tt ferua AT
A 06 50 10 56
B 02 100 02 120
C 04 60 06 60
D 10 30 12 24
E 08 40 12 36

A bag contains 8 Black and 4 Red balls, 2 (two) balls are drawn at

random. Find the probability of that balls is one is Red ball and another is

Black ball.

10

TR o T 8 Fes M 4 o =g, 3Med. 2 (YF) =g <aydvl Hed @iell Jeal.
W JeId IR T UE Sid ol el o GEU hiedl sid ol

If

solve :
@) A+B+C
@) 3A + 2B + 2C.

Or
(femam)
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5 2 0
o 2 -4
-5 3 -6
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@) A+B+C
@) 3A + 2B + 2C.

4. Find the compound interest of the amount Rs. 75,000 at 4% per annum for
3 years. 10
75,000 T 4% T 3 UG dfael TFAT & WhHSKIA Fehdle TSl el

Or
(feram)
Find the value of :
91
@ {6-2)!
6!
(1) (6 e 2)!'
o Wl
9!
@ (6-2)
6!
(1) (6 L 2)!'
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